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𝑅2

Δ𝑓

𝑥0 ∈ Ω

𝑓(𝑥𝑘) 𝑥𝑘

𝑀𝑘

𝑀𝑘 = {𝑥 + Δ𝑘
𝑚𝐷𝑧 ∶ 𝑥 ∈ 𝑉𝑘 , 𝑧 ∈ ℕ𝑛 𝐷} ∈ ℝ𝑛

𝑉𝑘 ⊂ ℝ𝑛 Δ𝑘
𝑚 ∈ ℝ+

ℝ𝑛×𝑛𝐷 𝑛𝐷

ℝ𝑛

𝐷𝑘 ∈ 𝐷

𝑃𝑘



𝐷𝑘

Δ𝑘
𝑝 Δ𝑘

𝑚 

𝑙𝑘

𝑃𝑘

𝑥𝑘+1

• 
• 
• 

• 
• 
• 
• 
• 
• 
• 



 𝐷𝑘

• [0,1]𝑛

• 

• 
ℝ𝑛

• 
𝐷𝑘 𝐷𝑘



 

 



𝑥𝑝
0

 

𝛾𝑝,𝑠 = {
−𝑓𝑎𝑐𝑐  

𝑝,𝑠
 𝑖𝑓  −𝑓𝑎𝑐𝑐  

𝑝,𝑠 ≤ 𝑀                                              

𝑀 𝑖𝑓 −𝑓𝑎𝑐𝑐  
𝑝,𝑠 > 𝑀 𝑜𝑟 −𝑓𝑎𝑐𝑐  

𝑝,𝑠  𝑖𝑠 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑

 𝑓𝑎𝑐𝑐  
𝑝,𝑠 = log10 (√

‖𝑓(𝑥̅𝑝,𝑠) − 𝑓(𝑥𝑝
∗)‖

2

2

𝑛𝑝𝑜𝑖𝑛𝑡𝑠
) 

𝑥



 

𝜏

𝛼

𝛼 𝛼



𝛼 𝛼
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𝐿 33µH

𝐶1 20µF

𝐶2 440µF

𝑅𝐿 60mΩ

𝑅𝐶1 60mΩ

𝑅𝐶2 65mΩ

𝑎0 0

𝑎1 4.7 × 10−4

𝑎2 1.6 × 10−9

𝑏0 1

𝑏1 4.7 × 10−4

𝑏2 0

Δ𝑅𝑜𝑛

Δ𝑅𝑜𝑛 =  50𝑚Ω





 

𝑅𝑑 105mΩ

𝑅𝑜𝑛 0.135Ω

𝑉𝑓 −0.8V

𝐿𝑜𝑛 0µH

𝑅𝑜𝑛 0.2Ω

𝑉𝑓 0.63V

𝐿𝑜𝑛 0µH



2 × 10−10

 

5 × 10−3



 





 



 

 



 

ℕ ≤ ≤
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 𝑇𝑝



𝑥 

𝑥 

𝑥 

   

  = 1  𝑤𝑖𝑡ℎ  ∈ ℝ 



𝜎2 = 2.77 × 10−4 𝜇 = 0 3𝜎 = 0.05



 

 

𝜃0 𝜃1 𝜃2

𝐿 33µH 33µH 33µH

𝐶1 20µF 20µF 20µF

𝐶2 440µF 440µF 440µF

𝑅𝐿 60mΩ 60mΩ 60mΩ

𝑅𝐶1 60mΩ 60mΩ + 0.3mΩ 60mΩ + 0.6mΩ

𝑅𝐶2 300mΩ 300mΩ 300mΩ

𝑅𝑜𝑛 0.135Ω 0.135Ω 0.135Ω



𝑥(𝜃1)

𝑥(𝜃2)

𝑅𝑐1



𝑅𝑐2

𝑅𝑐2

𝑅𝑐2

𝑅𝑜𝑛 𝑅𝑜𝑛

𝑅𝑜𝑛



𝑅𝑜𝑛

𝑅𝑜𝑛



 

𝑅𝑜𝑛 𝑅𝑜𝑛

𝑅𝑜𝑛

𝑅𝑜𝑛

𝑅𝑜𝑛

𝑅𝑜𝑛

𝑅𝑜𝑛

𝑥(𝜃𝑛)

𝜃0 𝜃1 𝜃2 𝜃3

𝐿 33µH 33µH 33µH 33µH

𝐶1 20µF 20µF 20µF 20µF

𝐶2 440µF 440µF 440µF 440µF

𝑅𝐿 60mΩ 60mΩ 60mΩ 60mΩ

𝑅𝐶1 60mΩ 60mΩ 60mΩ 60mΩ

𝑅𝐶2 65mΩ 65mΩ 65mΩ 65mΩ

𝑅𝑜𝑛 0.100Ω 0.125Ω 0.150Ω 0.175Ω



𝑅𝑜𝑛

𝑅𝑜𝑛

𝑅𝑜𝑛 



𝑅𝑜𝑛

𝑅𝑐1

𝑅𝑐1



𝑅𝑐2

𝑅𝑐1

𝑅𝑐1

𝑅𝑐2





𝐶f

𝐶f 



𝜎2 = 2.77 × 10−4 𝜇 = 0 3𝜎 = 0.05

𝑅𝑐2

𝜃0 𝜃1 𝜃2 𝜃3

𝐿𝑓1 2mH 2mH 2mH 2mH

𝐿𝑓2 2mH 2mH 2mH 2mH

𝐶𝑓 35µF 35µF 35µF 35µF

𝑅𝐶𝑓 60mΩ 60mΩ + 15mΩ 60mΩ + 30mΩ 60mΩ + 60mΩ

𝐶𝑝1 300pF 300pF 300pF 300pF

𝐶𝑝2 300pF 300pF 300pF 300pF

𝑅𝑐𝑝1 3000Ω 3000Ω 3000Ω 3000Ω

𝑅𝑐𝑝2 3000Ω 3000Ω 3000Ω 3000Ω





𝑅𝑜𝑛





 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 


